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Multiplying the square roots. Always
simplify your square roots.

B & = G0 =F [0

Steps:
Multiply 5 and 8

Simplify the square root
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Multiplying the square roots. Always

simplify your square roots.

Steps:
Leave the 3, Multiply 3 and 45

Simplify the square root

2

35 B = zﬂ%%vﬂ’f

15
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Multiplying the square roots. Always
simplify your square roots.

2zd - ez = }Z%:\Z‘M\B
Steps: }2 ) %

Multiply 2 and 6, Multiply 24 and 2
Simplify the square root
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Simplifying the square root fraction.
Always simplify your square roots.

5/6 0 You cannot have a square root in the

(10 (10 denominator of a fractionlll

Multiply the fraction byyT0 (top & bottom)
560

Use your multiplying rules on the top

10 Ji0 * io = JT00 = 10 (this always works!ll)
1015 Simplify 5y60°
10

Reduce the "regular” numbers (if you can)

10/10=1
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Simplifying the square root fraction.

Always simplify your square roots.

You cannot have a square root in the
3/14 (12

denominator of a fractionll!

2V12 [ 12 Multiply the fraction byJTZ (top & bottom)

Use your multiplying rules on the o
3168 y plying P
- Ji2 * 12 =JT37 = 12 (this always workslll)

24
6JA7 Simplify 3vI68
24

Reduce the “regular" numbers (if you can)

m 6/24=1/4

4
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Simplify the radical.

45 When you have a negative in the square root:
\/,T \/E Split the square root into 45 and -1
i \/4_5_ ﬁ = i (the letter i is use for imaginary numbers)
|J§J§ Now simplify the V&5 just like normal

3id5 When you square root 9, the 3 goes in front of i
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Simplify the radical

EENIE

=

%I

89

2
B

When you a fraction inside the square root:
Split the fraction into 2 square roots

Since we can't leave the 7, multiply byJ7
Multiply the top and bottom.

simplify the J84. Since the fraction won't
reduce, you are done.
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Simplify the radical

When a negative is outside the square root:

B
25 Leave it alone (your answer will be negative)

Split the fraction into 2 square roots

Always simplify square roots first. Since the
fraction can't simplify any more, you are done.

1] ap
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Simplify the radical
2z
3 5

W 2z
v w

2y
5

2245
a5 a5

21080

a5

121 T

a5

4y

You have a negative and fraction inside
the square oot

Split the fraction, and use the |

Multiply straight across (follow the rules)

Multiply by /A5

Multiply the top and bottor

Simplify the {TOB0

Simplify the fraction 12/45
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Simplify the square root. If it is already
simplified, just say "already simplified."

/4 4 STOP| Ts the number a perfect square?

Since it is not, we need to find a perfect square factor of 44

/4 . /11 I find that 4 is the largest perfect square that is a factor of 44

Split the square root into 4 and 11, because 4 x 11 = 44

The square root of 4 is 2, so you are done.
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Simplify the square root. If it is already
simplified, just say "already simplified."

STOP| Ts the number a perfect square?
Since it is not, we need to find a perfect square factor of 252

I find that 36 is the largest perfect square that is a factor of 252
4 and 9 also work, but 36 is larger, so that's why we use it.

Split the square root into 36 and 7, because 36 x 7 = 252

The square root of 36 is 6, so you are done.
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Simplify the square root. If it is already

simplified, just say "already simplified."

V174

STOP! Ts the number a perfect square?

Since it is not, we need to find a perfect square factor of 174
1is the only perfect square that is a factor of 174.

These are the only factors of 174: 1,2, 3,6, 29, 58, 87, 174

Don't use 1 if it is the only perfect square factor. Leave it alonelll
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Simplify the square root. If it is already
simplified, just say "already simplified."

3 /150 STOP| Ts 150 a perfect square? Ignore the 3 for right now

Since it is not, we need to find a perfect square factor of 150.

3- /25 . /6 I find that 25 is the largest perfect square that is a factor of 150

Split the square root into 25 and 6, because 25 x 6 = 150

3-5 / 6 The square root of 25 is 5. Multiply 5 and 3, and you are done
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Simplify the square root. If it is already
simplified, just say "already simplified."

2 /289 STOP! Is the number a perfect square? Ignore the 2 right now

YESITISI 289 = 17 So replace itlll

2 . 17 Multiply the 17 with the 2 that is in front, and you are done.




